Section—-C 2x7=14
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 7 marks.
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10. Write short notes on the following :
(1) Principle of priority with examples
(i1)) Author citation with examples
frafafea = dfya femfrt fafe .
() wafasa w1 fem SeeTo Afea
(i) e fAuior Sereeo Hfea
11. Explain the economic importance of Asteraceae.
TR & e W W YRl e |

12. Write a detailed note on microsporogenesis and
structure of pollen grain.

THISSIUSHAT & WRIETRY i FEAT S fOR & I9esT |
13. Define Pollination. Explain its types with example.
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 1 mark.
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1. (1) Write rwo differences between Dicot and

Monocot plants.
feslisTost o Wehsiorost § & o fafew)
(i1)) Define Embryology.
Aiforent @t afwren fafem |
(ii1) What is Head Inflorescence ?
quesh YoUhH F Bl § 2
(iv) Define Cyathium.
qEfem & aRwfta wife |
(v) Write the names of floral parts.
qed 9T & 9 fafe |
(vi) Define Ovule.
HISUE w1 RIS Hifeg |
(viil) What is Polyembryony ?
SEYOT F FA T ?
Section-B 4x3%=14
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 3%z marks.
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. Write the principles of ICBN.

ICBN & fagmi &l sasu |

. Explain Binomial Nomenclature.

fgue T H1 THEET

. Write the primitive character of Ranunculaceae.
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. Write the advance character of Asteraceae.

TR & T de7 fafe

. Explain the important floral characters of

Lamiaceae.
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. Explain the structure of ovule.

SIS h TLEAT GHET |

. Describe the structure of female gametophyte.
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. Define Embryo. Explain its types.
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